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1. EfRE

(1) turtle. screensize(width, height, bg) . S5 M A 5 .5 1
s, ST AL R R .

(2) turtle. setup(width, height, startx, starty): Z4{ width il height
FOR FERE A RERUN  RORRE s S /NEO . RO R AR H ] startx
H starty 275 FH B 5 A 20 b A TR A9 R 1) DA 1] BT, 40 2R g 5, WU 8T 11 o
ThET L.

fian .

turtle.screensize (800,600, "green")

FRTEE T 800 R EK & 600 18 F (1 He ol Lk (o 1 I A , 4 B 7E BE s p
e, WHRE S EA white(F ) black (B {8) . grey (JK 8) . darkgreen (VR
40 . gold (& ff) . violet R () . purple ({4 .red (£T {6) . blue (¥ 6) 45,
XA

turtle.setup (width=400,height=300, startx=200, starty=100)

turtle.setup (400, 300, 200, 100)

FORBLE TE 400 R & 300 R (A7 . oA b A IR R AE b A T
AR [) AN 1] BE B 2350 Ry 200 AR FN 100 B3R .
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(1) turtle, pensize(width) . 1% & M 2 /) 55 1, L B8 &K .
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(2) turtle. pencolor(color) . ¥ & M ZEZI . AR EA SEAL A MR [ 25 5 56 2 2
SR LU F A H 0 green . red , 0] LUE RGB =04,

(3) turtle. penupO) : HEME , Z 5B s ENLH K.

(4) turtle. pendownQ) : ¥ T2 , 2 J5 £ 3h W 285 24 il ETE .

(5) turtle. speed(speed) . ¥ W % 7% 2 WU . W0 2E 7 3l (9 3 S [0, 10 ]398 [ /Y

B BUTHBOR AL 2 3k SR R

3. BEEHGS

(1) turtle. forward(distance) : [a] 24 {5 Il 2£ /7 [n] # 3f distance { R K&,

(2) turtle. backward(distance) : [0] 24 5] M ZE A 5 /5 [0 # 3 distance (R R K,
(3) turtle. right(degree) ;: JIiH} 5T 3 degree fA %,

(4) turtle. left(degree) ; Wil 43l degree ffi FF,

(5) turtle. gotoCa,y) : K ZEFL B B AL bR Ny (s y) AL E

(6) turtle. circleO . MR, 242 2 IE (50 o o [0 A 00 2 9 72 300 (A7 320D 1 [
(7) turtle. setxO) : ¥ 477 X Hli#e zh 248 2 1 & .

(8) turtle. setyO) : ¥ 2477 Y WA sh B 45 & 18 .

(9) turtle. setheading(angle) : & & X4 {75 7]~ angle f .

(10) turtle. home() : B ¥ > Fif 1l 28 {07 4 hy J5t . 5 M) 7R

(1D turtle. dot(r) + 22l — 45 E ELARFIH @ 8 7 A5
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(1) turtle. fillcolor(colorstring) ; £l K i 4H 78 B 4, ,

(2) turtle. color(colorl, color2) . [A]i}i&® pencolor=colorl.fillcolor=color2,
(3) turtle. filling O + & W] Y /2 fEH TR

(4) turtle. begin_{illO : #E#IF IR T EIE

(5) turtle. end _fillO: HIFESEIK .

(6) turtle. hideturtle ) ; R IH 2£ ) turtle JEAR .

(7) turtle. showturtle) . W/RHZER turtle JEAR .

5. Hibdn &

(1) turtle. clearO); ¥5%5 turtle & [ ,{H 2 turtle A B RS A B2,

(2) turtle. resetO) : WESSH H,HE turtle RS MEERTE.

(3) turtle. undoO) : 44 I —~ turtle Zh1E.

(4) turtle. isvisible) : & [A] 47 turtle J& 75 A UL,

(5) stampO): B HI Y a7 EIE.

(6) turtle. write(s [ ,font= ("font-name" ,font_size, "font_type") ]): B XA ,s H X

KNE , font BFARH) S5, font-name . font_size I font_type 43 ) 0 FAK 44 Fr LK/ FI2k

.

font %M ] %0 , font-name. font_size Fl font_type 1 2 7] £ I ,
(7) turtle. mainloop () 8% turtle. done () : B FH A5, 18 turtle & 1Y mainloop

PRBY L OB FETIE B e v ) B S — AN TR
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(8) turtle. mode(mode=None) : & & # 2 # :{y standard.logo 5 world, I 447 &
B WCREA g AL R S TR, Horh standard R ) A7 (R 8038 I £ logo
2w ) b (A6 BB £

(9) turtle. delay(delay=None) . ¥ & iR [0 DL 2 F0 ky B4 (1 22 R ZER

(10) turtle. begin_poly O : FFAHIC Rk 2 I AT AL . 1 109 il 28 A7 B2 2 B 15
— T A

(11) turtle. end_poly O : 5 1EICsk Z BT &, Y170 207 &S 2 08 W i a
— AT B 55— TR i

(12) turtle. get_polyO): R )50 RN LA,

[E£53E4]

Bl5.1 ZHIENE. KN 100 FK . mETEE R 6 R R BiE L, nE 1-5-1
I

[ | o | [

B 151 ERF
B AAST .

import turtle

turtle.color ("red")

turtle.pensize (6)

for 1 in range (4) :
turtle.forward (100)
turtle.left (90)

Bl5.2 i 4 AR IRGE . BUE I BN 2L B VB AR 1-5-2 R
PR INT

import turtle
turtle.color ("red")
turtle.pensize (2)
turtle.speed(0)
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B 1-5-2 4P ERER

colors=['red','green','yellow','blue']
for 1 in range (100) :
turtle.pencolor(colors[i%4])
turtle.circle (1)
turtle.left (91)

B15.3  [EEZH AN L aniE 1-5-3 Fs

B 1-5-3 mANak
AN R UNNE

import turtle
tl=turtle.Pen ()
t2=turtle.Pen ()
for 1 in range (6) :
tl.forward (100)
t2.forward (100)
tl.left (60)
t2.right (60)
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